
• It is function of various gate function 

 

 

 

• Af= Final value 

• Ai= initial value 

Direct formula (K.M. formula) 
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Using Gate function Formula 
 
f(t) = G0,a (t)+(-1) Ga,2a (t) +G2a,3a (t) +(-1) G3a,4a (t) + ……… 
f(t) =1.[U(t)-U(t-a)]+ (-1).[U(t-a)-U(t-2a)]+ 1.[U(t-2a)-U(t-3a)]+ (-
1).[U(t-3a)-U(t-4a)] 
+……… 
f(t)= U(t)-2 U(t-a)+ 2U(t-2a)-2U(t-3a)+……… 
 
Using K.M. Formula 
 
 
 
 
  



f(t)= (1-0) U(t-0)+ (-1-1) U(t-a)+ (1-(-1)) U(t—2a)+ (-1-
1) U(t-3a)+………… 
f(t)= U(t)-2 U(t-a)+ 2U(t-2a)-2U(t-3a) + ………… 
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f(t)= G0,2 (t)+(-2) G2,3 (t) +2G3,4 (t) 
f(t) =1.[U(t)-U(t-2)]+ (-2).[U(t-2)-U(t-3)]+ 2.[U(t-3)-U(t-5)] 
f(t) = U(t)-3 U(t-2)+ 4U(t-3)-2 U(t-5)  
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f(t)= G1,2 (t)+2 G2,3 (t) +G3,4 (t) 
f(t) =1.[U(t-1)-U(t-2)]+ 2.[U(t-2)-U(t-3)]+ [U(t-3)-U(t-4)] 
f(t) = U(t-1)+ U(t-2)-U(t-3)-U(t-4)  
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f(t) =Kt.[U(t)-U(t-1)] 
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f(t) =K(t-1).[U(t-1)-U(t-2)] 
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f(t) =K/a t.[U(t)-U(t-a)]+ K U(t-a) 



f(t) =K/a (t-a).[U(t-a)-U(t-2a)]+ K U(t-2a) 
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f(t)=Kt.[U(t)-U(t-1)]-K(t-2).[U(t-1)-U(t-2)] 
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f(t)=1/a t.[U(t)-U(t-a)]+[U(t-a)-U(t-3a)]+[(-1/a)t+4]  
[U(t-3a)-U(t-4a)] 
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f(t)= 2t G0,1 (t)+ G1,2 (t) +(-2t+6)G2,3 (t) 
     =2 t.[U(t)-U(t-1)]+[U(t-1)-U(t-2)]+[-2t+6][U(t-2)-U(t-3)] 

t 
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f(t)=(2t-2).[U(t)-U(t-2)]+ (-2t+6).[U(t-2)-U(t-4)]+ (2t-10).[U(t-4)-
U(t-6)]…………… 
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f(t)=f1(t)+ f2(t)+ f3(t) 

 f1(t)  =2 t. U(t)-2(t-1)U(t-1)-2U(t-2) 
f2(t)= (-4t+10) [U(t-2)-U(t-3)] 
f3(t)= (2t-8) [U(t-3)-U(t-4)] 
 
 





Calculate the form factor and peak 
factor? 
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i= 100 sin ωt 
  



• i= 100 sin ωt, 0< ωt<π 

  = 0, π< ωt<2π 

 

 

  

= 31.8 A 


